
www.certipik.com                                           Certi-Pik, USA                                         Litho in USA 2020



Item Part OEMPart DescQty

John Deere Doffer and Lower Housing Assembly 30-7

DOFFER SHAFT - 14 SPINDLEAN193262932621.1 1

DOFFER SHAFT - 18 SPINDLEAN193323933231.2 1

USE #73701, OR #16193 - DOFFER SHAFT, 20 SPINDLEAN193263932631.3 NA

DOFFER SHAFT - PRO-12 18 SPINDLE (9970-CP690 P12)AN274506745061.4 1

DOFFER SHAFT - PRO-16 20 SPINDLE (9976-CP690 P12)AN273701737011.5 1

DOFFER - PREMIUM URETHANE (9900-CP690 P12)AN27215272152PRM2 AR

DOFFER SPACER - LONG - SPLINED CENTER - HEAVY DUTY - (REPLACES N275381 & 

N197107) ( FITS ALL MODELS 9900-CP690 P12)

N27538175381HD3 AR

SHIM - DOFFER, .010" THICK - (9900-CP690 P12)L3197N03197P4.1 AR

SHIM - DOFFER - .020" THICK<-----OEM03197P-204.2 AR

WASHER - 1-17/64 X 1-7/8 X .048" (9930-9996), NOT 9960-9965 IN-LINE24H163301633P5 1

SHORT DOFFER SPACER - SPLINED (REPLACES  06133P & 98746)N380569805696.1 1

SPACER - SHORT SPACER (9900-9996 W/ #01633P) : (#01633P NOT USED ON 9960 

& 9965 IN-LINE)

N198746987466.2 1

DOFFER CAP - (9900-9965 CONV.& IN-ILNE)N191302913027.1 1

DOFFER CAP - PRO (9970-CP690)N275471754717.2 1

SPACER - LOWER DOFFER BEARING SPACER, (9910-9965 CONV.)N190913909138.1 1

SPACER - LOWER DOFFER BEARING SPACER, (9935-9965 IN-LINE)N196834968348.2 1

SPACER - LOWER DOFFER BEARING SPACER, (PRO 9935-CP690) - REPLACES # 

N275350, & N371318

N410874108748.3 1

BALL BEARING - LOWER DOFFER ( 9900-9965 )JD1012310123P9.1 1

BEARING - LOWER DOFFER -PRO- (9935, 9970-CP690)AN27502275022P9.2 1

NUT - 1-1/8 - NYLON LOCK (9900-9965)H826198261910.1 1

PRO DOFFER NUT, M30 NYLON LOCK NUT (9935-CP690 P12)N27503875038P10.2 1

LOWER DOFFER HOUSING (9900-CP690) INCLUDES 1x 1/8" LUBE FITTING #07759PAN2739537395311 1

SHIM - HOUSINGN3416434164P12 AR

PLATE - DOFFER BASE PLATE (9900-9965) (USE 3x #10124P & 3x #10215P) (ILL.)N1937959379513.1 1

DOFFER BASE PLATE - PRO (9935, 9970-CP690)N2767037670313.2 1

VINE CUTTER - 2 PER DOFFER SHAFT (9900-CP690) (SOLD IN PAIRS ONLY) 

INCLUDES ATTACHING HARDWARE: 2x 14820PV - 1/4 X 3/4" HEX BOLT & 2x 

10217PV - 1/4" LOCK NUT

N2724827248214 2

NUT - 1/4 - NYLON LOCK (2 RQD.)N1021710217PV15 2

BOLT - 1/4 X 3/4" HEX BOLT (2 RQD.)N1482014820PV16 2

COMPLETE 18 SPINDLE URETHANE DOFFER ASSEMBLY - (MODELS 9935, 9960 & 

9965 IN-LINE ONLY) - (INCLUDES ITEMS 1-10, NOT 5) *GROUND AND READY TO 

INSTALL *

AN27222472224-IL17.1 1

(REPACED BY PART #73445, OR #17562) - COMPLETE 20 SPINDLE URETHANE 

DOFFER ASSEMBLY

AN2722257222517.2 NA

COMPLETE 18 SPINDLE URETHANE DOFFER ASSEMBLY - (PRO 9970-CP690) - 

(INCLUDES ITEMS 1-10) * GROUND AND READY TO INSTALL  *

AN2745087450817.3 1

COMPLETE 20 SPINDLE URETHANE DOFFER ASSEMBLY - (PRO 9976-7760) - 

(INCLUDES ITEMS 1-10) * GROUND AND READY TO INSTALL  *

AN2734457344517.4 1

BOLT - M10 X 280 HEX HEAD - CP690 PRO-1619M1054510545P18 1

DOFFER SHAFT - CP690 PRO16 - (LARGE DIA HOLLOW SHAFT) 20SAKK161931619319 1

DOFFER - PREMIUM URETHANE (CP690 P16) - LARGE HOLEAN40603806038PRM20 AR

DOFFER SHIM .010" - CP690 PRO-16 - LARGE HOLEN40078900789P21 AR

DOFFER SPACER - LONG - CP690 PRO-16 - LARGE HOLEKK152801528022 AR

DOFFER SPACER - SHORT - CP690 PRO-16 - LARGE HOLEKK152811528123 1

WASHER - CP690 PRO-16N1348033480324 1

www.certipik.com                                           Certi-Pik, USA                                         Litho in USA 2020



www.certipik.com                                           Certi-Pik, USA                                         Litho in USA 2020



Item Part OEMPart DescQty

John Deere Doffer and Lower Housing Assembly 30-7

BOLT  - M16 X 100 - SMOOTH HEX FLANGE - CP690 PRO-1619M782807828P25 1

DOFFER ASSEMBLY - CP690 PRO-16 BALER - 20S (HIGH SPEED)AKK175621756226 1

BOLT  - M10 X 25 - SERR HEX FLANGEN275625P75625P27 6

NUT - M10 - SERR HEX FLANGEE6352663526P28 6

BOLT  - M10 X 30 - SMOOTH HEX FLANGE19M778607786P29 3

www.certipik.com                                           Certi-Pik, USA                                         Litho in USA 2020


